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INSTRUCTIONS:- The question paper is divided in to two sections ‘A’ and ‘B’. Attempt all

questions of section ‘A’ and any two question of section ‘B’

Yus—31 SECTION - A

U1 ey T o7 @
What is a Outstanding Exp?

g2 WR® 981 | T AR &7 @)

What is a memorandum book?

93 o< oieied & A forfkay | @)
Explain the importance of Financial Accounting.

U4 G ABS I8 DI Y | @
Explain the petty cash book.

U5 WEER Hod I ey fRed | @)

What is a definition of Partnership Agreement?

U6 cEidd STUTd FT §° (5)

What is meant by Accounting Ratio?
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BH & AFTIR FHUT T 3T 87 (5)

What is meant by compulsory dissolution of Firm (Partnership)?

Rerfdy faavor &1 ureu fRIRa | ()

Prepare the format of balance sheet.

U BH DI AT DI AR T 5 GU S AT ™ S 2 I D a_IER Aldl AT 2 |
I @ A ST HITY S1dfds 5 a8 @& o 74 § — (5)

UH 9§  — 20,000 T

fedm a9 — 2000 T

i — 6,000 T

o 99 — 6000 I B

g9 99

6000 X <™

Goodwill of a firm is valued at twice the average profit for last 5 years. Find the value of

goodwill if the profit for last 5 years is-

First year — %2000 profit
Second year - %2000 profit
Third year - < 6000 profit
Fourth year - ¥ 6000 loss
Fifth year — %6000 profit
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QoG HUAl T AN HuAl 7 SR forfRed | (5)
Distinguish between public company and private company.

1 Ja8Rl &1 2’9 B YIB! 3§ Yol Yfa! B |

2014 Jan 1 QUR YRH &A1 — 5000 (®6)
2014 Jan 3 AT | ATl TWRIGT — 2000

2014 Jan 5 §& ¥ W1 T — 4000

2014 Jan 7 BHI I gobd GIAE F AP AT — 1950

2014 Jan 9 QIS HI ATA =T — 1000

Give journal entry in the books of Rishabh for the following
transactions-
2014 Jan 1 Started business with cash — 5000 .
2014 Jan 3 Purchased goods from Hema — 2000
2014 Jan 5 Deposit in the bank —I 4000
2014 Jan 7 Paid to Hema by cheque — 1950
in the full settlement

2014 Jan 9 Sold goods to Deepak — 1000
IRY forfice 7 20 T @Tel 5000 HHGT 37 92 W 2 IUMT 3 &1 ) ¥ fifaa fad —

JMded W 4 T, 3Mgcd W 6, GUH IMA] — 4 T dAqT A ffd Ira=r R <9 2 | G

JIRT JURFA U B TS| BUAl Bl JRe W qEWd  oWd e
PR | 6)

Paras Ltd. issued 5000 Equity share of ¥ 20 per share at a discount of ¥2/- per share
payable as ¥ 4 per share on application, I 6 per share on allotment, ¥ 4 per share on first call

and balance on last call. Assuming that all the money were duly received pass necessary

Journal entries in the books of Paras Ltd.
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Write

four importance of Ledger.

=1 foRaa <uaeRT & IR @Tar 98—

Prepare the Trading A/c from the following Tarticular’s on 31 March 2014-

Ul ¥Th Opening stock - 19500
B Purchase - 25000
X HTST Railway Cartage - 1500
JcUTe HOlQY Production wages ~ — 7000
fermToft fopmman Factory Rent - 600
i U9 9l Gas and water -~ 1200
fasa Sales ~ 32000
3ifoH ¥eTh Closing stock - 20500
ENGIEK] Purchase Return - 1500
fdera 9T Sales Return — 3000

=1 faaRoT & 30 3T 2012 BT FHUT HT ddb FHEME fIaRT TIR HIVTT |

IS J&IP & IFAR I [l BT 9% AW 13,000 T oFF

1900 % BT = A1 B fb=g 9 gRT HUg T8I fobar

3200 ¥ T = STAT [T YA Bg IId el fbar

=T &1 oRkal UTag® o b fheg e qxdd H T8l fbar

(A) 9B T YT — 300 %
(B) d& =g — 1002
(C) USH gRT 9% H AT ST — 300

Page 4 of 7

®)

®)

®)



.16

Prepare Arun’s Bank Reconciliation statement from the

following as on 30 April 2012.

(i)
(ii)

Bank balance as per cashbook on that date was ¥ 13000.

Cheque deposited but not yet credited by bank ¥ 1900.

Cheque issued worth ¥ 3200 which were not presented for payment.

The following item appeared in the pass book but no entry in the cash book by that date-
(A) Bank Interest received —X 300

(B) Bank charges ¥ —100

(C) Direct payment of ¥ 3000 in the bank by a customer.

1STAY 2014 FO19T < SHI Bl 20,000 BT AT 99T 3R $HD gl Fol9 o IHI
TR 3 918 &I @ &1 7 forar S WerR &) forar Tar| goier 7 59 Aua &7

4 S BI U 9P W 6% aANe DI aR W AT foram qr < fAfr iR oSHY
ERT fAua &1 Y dR 3T | SRIFd FG8RI Bl Foi Y IHY Pl Tebel g8l H
forRer | (7)

On 1% January 2014 Brajesh sold goods to Umesh for ¥20,000 and drawn a bill of
exchange for three month on Umesh. Which was duly accepted. Brajesh discounted the
bill with his bank on 4™ January at bank interest at the rate of 6% On due
date the bill was honoured by Umesh. Journalise these transactions in the book of

Brajesh & Umesh.

17 < fea oRRufaal & &wH &1 9\ B dhdr 27 @)

[320]

Under what circumstances can a court dissolve the partnership firm?
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(A)

(A)

Yvs—9 SECTION -B

Th HH B S A 27000 © | HH B Yol 1,80,000 © | 9 FIHR W 10% 3N
sruferd = | Yoi wror fafd & SrgaR @fa & IRy Sd iforg (10)

Average profit of a firm is ¥27000. Firm’s capital isZ 1,80,000 and normal return on

business is expected at 10%. Find out goodwill by capitalisation method.

fafrafsa YSi 1,00,000 T ARIRET @™ @1 10% | 1 T®HT 3 a9 &7 10% B &R ¥

A o 248685 B | 3 YD ST T 14000 T T | Af¥e fafsr grr wmfa & wfdy
IREFISI

Capital employed ¥ 1,00,000. Normal rate of profit 10%.Present value of Annuity of ¥ 1
for three years at 10% I2.48685 Average profit for three year's 14000 X. Find out

goodwill by Annuity Method.
qd 987 & 3 A & AR W AT BT Jedld da fBar S 2? fafyy |9smsy |

Explain the method of calculating goodwill on the basis of

previous year average profit.

Fuq fofics 9 5000 6%F0IA 10 TURT RoU= &I 2 T WIFH W R fean, 59
R R AR 9 ® - (10)
4 % 9fa ZRogF arded (1 3 UEgH )

5 T gfr FoTUS 3ffaed (1 ¥ W afRa)

3 % Ufd ZRO9a YoM q Sifad IreT

4000 FRUIYAT & foTQ 3fda UTel g 3fR 3fae

far T | T B gD H e gfdfe By |
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Rishabh Ltd issued 5000 6% Debenture of ¥ 10 each at premium of ¥ 2 per debenture payable as
Z4o0n-

Application [including X 1 per debenture premium] I 5

on allotment [including ¥ 1 per debenture premium], ¥ 3

on first and final call. Application were received for 4000

debentures and allotment was made. Pass journal entry in the books of Rishabh.

(B) dTel Ud Rl urd W fewef forRed |

Comment on Current Ratio and Liquid Ratio.

() oM faa=or fageryor &1 @ aef 87 s
mraegdar forfRad |

Give the meaning and need for Analysis of Financial statement?
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